





A. ENZO BUD VASES 13/4" dia. opening × 8"H. \$16.88 ctn. of 12 (\$1.41 ea.) 30% OFF \$11.82 ctn. of 12 (\$0.99 ea.) **HW FGS1178** 



B. RIBBED GLASS ROSE VASES 4" dia. opening × 8¾"H. \$38.88 ctn. of 12 (\$3.24 ea.) 30% OFF \$27.22 ctn. of 12 (\$2.27 ea.) HW FGS1170



C. GLASS CUBES 4" sq. opening × 4¾"H. \$32.88 ctn. of 12 (\$2.74 ea.) **30% OFF** \$23.02 ctn. of 12 (\$1.92 ea.) **HW FGS1176** 



D. EMBOSSED GLASS VASES 4" dia. opening × 8"H. \$42.88 ctn. of 12 (\$3.57 ea.) **30% OFF** \$30.02 ctn. of 12 (\$2.50 ea.) **HW FGS1174** 



E. RIBBED GLASS VASES  $3\frac{1}{2}$ " dia. opening ×  $7\frac{3}{4}$ " H. \$37.88 ctn. of 12 (\$3.16 ea.) **30% OFF** \$26.52 ctn. of 12 (\$2.21 ea.) HW FGS1171



**F. GLASS REGENCY VASES** 3¼" dia. opening × 7"H. \$25.88 ctn. of 12 (\$2.16 ea.) **30% OFF** \$18.12 ctn. of 12 (\$1.51 ea.) **HW FGS1177** 



**G. GLASS ROSE VASES** 3½" dia. opening × 8"H. \$34.88 ctn. of 12 (\$2.91 ea.) 35% OFF \$22.67 ctn. of 12 (\$1.89 ea.) HW FGS1175



H. EMBOSSED GLASS VASES 3½" dia. opening × 7"H. \$34.88 ctn. of 12 (\$2.91 ea.) **30% OFF** \$24.42 ctn. of 12 (\$2.04 ea.) **HW FGS1173** 



I. EMBOSSED GLASS VASES 4" dia. opening × 9¾"H. \$45.88 ctn. of 8 (\$5.74 ea.) **35% OFF** \$29.82 ctn. of 8 (\$3.73 ea.) **HW FGS1179** 



J. GLASS REGENCY VASES 3" dia. opening × 7"H. \$25.59 ctn. of 9 (\$2.84 ea.) 25% OFF \$19.19 ctn. of 9 (\$2.13 ea.) HW FTG9015



K. GLASS VASE ASSORTMENT Garden: 4" dia. opening × 7"H. Curved: 3" sq. opening × 63/"H. Rectangular: 4"W × 3"D × 6"H. \$28.00 ctn. of 9 (\$3.11 ea.) 40% OFF \$16.80 ctn. of 9 (\$1.87 ea.) HW FTG20



L. GLASS CUBES 4" sq. opening × 4¾"H. \$25.88 ctn. of 9 (\$2.88 ea.) 30% OFF \$18.12 ctn. of 9 (\$2.01 ea.) HW FTG925



M. GLASS RECTANGULAR VASES 3½"W × 4"D × 6"H. \$27.88 ctn. of 12 (\$2.32 ea.) **30% OFF** \$19.52 ctn. of 12 (\$1.63 ea.) **HW FTG9016** 







N. GLASS GATHERING VASES 3" dia. opening × 6½"H. \$27.26 ctn. of 12 (\$2.27 ea.) 25% OFF \$20.45 ctn. of 12 (\$1.70 ea.) HW FTG2522



O. GLASS GATHERING VASES 3" dia. opening × 7¾"H. \$19.63 ctn. of 6 (\$3.27 ea.) **30% OFF** \$13.74 ctn. of 6 (\$2.29 ea.) **HW FTG2520** 



P. TAPERED SQUARE GLASS VASES 35%" sq. opening × 9"H. \$21.88 ctn. of 6 (\$3.65 ea.) 30% OFF \$15.32 ctn. of 6 (\$2.55 ea.) HW FTG936



**Q. GLASS GINGER VASES** 3½" dia. opening × 6"H. \$28.99 ctn. of 12 (\$2.42 ea.) **25% OFF** \$21.74 ctn. of 12 (\$1.81 ea.) **HW FTG9019** 





A. ORCHID HARVEST GLASS BUD VASES 1¼" dia. opening × 8½"H. \$35.88 ctn. of 24 (\$1.50 ea.) 20% OFF \$28.70 ctn. of 24 (\$1.20 ea.) HW 900-24-1090



B. ORCHID HARVEST GLASS LULITA VASES 4½" dia. opening × 6½"H. \$55.88 ctn. of 12 (\$4.66 ea.) 20% OFF \$44.70 ctn. of 12 (\$3.73 ea.) HW 3028-12-1090



C. ORCHID HARVEST GLASS CUBES 31/4" sq. opening × 4" H. \$37.88 ctn. of 12 (\$3.16 ea.) 20% OFF \$30.30 ctn. of 12 (\$2.53 ea.) HW 3059-12-1090



D. ORCHID HARVEST GLASS CUBES 4" sq. opening × 5"H. \$50.88 ctn. of 12 (\$4.24 ea.) 20% OFF \$40.70 ctn. of 12 (\$3.39 ea.) HW 3060-12-1090



E. ORCHID HARVEST GLASS JORDAN VASES 4" dia. opening × 8"H. \$48.88 ctn. of 12 (\$4.07 ea.) 20% OFF \$39.10 ctn. of 12 (\$3.26 ea.) HW 4045-12-1090



F. ORCHID HARVEST GLASS NORAH VASES 4" dia. opening x 8"H. \$31.88 ctn. of 6 (\$5.31 ea.) 20% OFF \$25.50 ctn. of 6 (\$4.25 ea.) HW 3611-06-1090



G. ORCHID HARVEST GLASS ROSE VASES 3½" dia. opening × 8"H. \$37.99 ctn. of 12 (\$3.17 ea.) 20% OFF \$30.39 ctn. of 12 (\$2.53 ea.) HW 4999-12-1090



H. ORCHID HARVEST GLASS GATHERING VASES 3½" dia. opening × 8"H. \$38.88 ctn. of 12 (\$3.24 ea.) 20% OFF \$31.10 ctn. of 12 (\$2.59 ea.) HW 4940-12-1090



I. ORCHID HARVEST GLASS BELLA VASES 5½" dia. opening x 10½"H. \$41.88 ctn. of 6 (\$6.98 ea.) 20% OFF \$33.50 ctn. of 6 (\$5.58 ea.) HW 4061-06-1090



J. ORCHID HARVEST GLASS URN VASES 5" dia. opening x 10%"H. \$45.88 ctn. of 6 (\$7.65 ea.) 20% OFF \$36.70 ctn. of 6 (\$6.12 ea.) HW 4042-06-1090





K. KEY WEST GLASS JORDAN VASES 4" dia. opening x 8"H. \$55.28 ctn. of 12 (\$4.61 ea.) 20% OFF \$44.22 ctn. of 12 (\$3.69 ea.) HW 4045-12-444



L. ORCHID HARVEST GLASS JARDIN VASES 2½" dia. opening × 5½"H. \$37.88 ctn. of 24 (\$1.58 ea.) 20% OFF \$30.30 ctn. of 24 (\$1.26 ea.) HW 3292-24-1090



M. ORCHID HARVEST **GLASS JARDIN VASES** 3" dia. opening × 6½"H. \$46.99 ctn. of 24 (\$1.96 ea.) 20% OFF \$37.59 ctn. of 24 (\$1.57 ea.) HW 3293-24-1090



N. KEY WEST GLASS BOUQUET VASES 2" dia. opening x 9"H. \$55.69 ctn. of 12 (\$4.64 ea.) 20% OFF \$44.55 ctn. of 12 (\$3.71 ea.) HW 4227-12-444 Limited Quantity



O. KEY WEST GLASS BELLA VASES 4" dia. opening x 8¾"H. \$66.02 ctn. of 12 (\$5.50 ea.) 20% OFF \$52.81 ctn. of 12 (\$4.40 ea.) HW 4060-12-444



P. ORCHID HARVEST GLASS ROSE VASES 3%" dia. opening x 8½"H. \$42.88 ctn. of 12 (\$3.57 ea.) 20% OFF \$34.30 ctn. of 12 (\$2.86 ea.) HW 972-12-1090



Q. ORCHID HARVEST GLASS ROSE VASES 4¼" dia. opening × 9¾"H. \$48.88 ctn. of 12 (\$4.07 ea.) 20% OFF \$39.10 ctn. of 12 (\$3.26 ea.) HW 973-12-1090



R. KEY WEST GLASS ROSE VASES 3¾" dia. opening x 8½"H. \$48.82 ctn. of 12 (\$4.07 ea.) 20% OFF \$39.05 ctn. of 12 (\$3.25 ea.) HW 4072-12-444



**S. KEY WEST GLASS ROSE VASES** 4" dia. opening x 9<sup>3</sup>/<sub>4</sub>"H. \$57.92 ctn. of 12 (\$4.83 ea.) 20% OFF \$46.34 ctn. of 12 (\$3.86 ea.) HW 4090-12-444





A. CERAMIC SMILEY FACE STACKED VASE 1" opening × 8½"H. \$25.33 ctn. of 4 (\$6.33 ea.) HW 9730457



B. CERAMIC EMOJI MASON JARS 2¾" dia. opening × 6"H. \$53.23 ctn. of 8 (\$6.65 ea.) HW 9737247



C. CERAMIC SMILEY FACE MUG 4¾" dia. opening × 4"H. \$29.88 ctn. of 8 (\$3.74 ea.) **35% OFF** \$19.42 ctn. of 8 (\$2.43 ea.) HW FT15715



D. STONEWARE SMILEY FACE MUG Individually gift boxed. Dishwasher and microwave safe. FDA approved. 14 oz. 3" opening × 4¼"H. \$20.96 ctn. of 6 (\$3.49 ea.) HW 9715261



E. MELAMINE SMILEY FACE POTCOVER 5" dia. opening × 4½"H. \$18.56 ctn. of 12 (\$1.55 ea.) HW 6404303



F. CERAMIC SMILEY FACE PLANTER 4" dia. opening × 3½"H. \$28.00 ctn. of 4 (\$7.00 ea.) HW 9730458



G. MELAMINE SMILEY FACE POTCOVER 6¾" dia. opening × 5¾"H. \$30.00 ctn. of 12 (\$2.50 ea.) HW 6404304





H. CERAMIC SMILEY FACE PLANTERS 4½" dia. opening × 4½"H. \$25.63 ctn. of 6 (\$4.27 ea.) **35% OFF** \$16.66 ctn. of 6 (\$2.78 ea.) **HW T4242** 



J. PLASTIC SMILEY FACE PIC  $2\frac{3}{4}$ " ×  $2\frac{3}{4}$ ". 12"OH. \$12.16 ctn. of 24 (\$0.51 ea.) HW 9713809



K. WOOD EMOJI PICS 2¾" × 2¾". 12"OH. \$25.20 ctn. of 24 (\$1.05 ea.) HW 9732833



L. CERAMIC VASES WITH GET WELL MESSAGES 1" dia. opening × 7"H. \$41.81 ctn. of 4 (\$10.45 ea.) HW 9736630



M. YELLOW GLAZED CERAMIC POT 4½" dia. opening × 4½"H. \$35.83 ctn. of 12 (\$2.99 ea.) 35% OFF \$23.29 ctn. of 12 (\$1.94 ea.) HW T464



N. BRIGHT CERAMIC CYLINDERS 5" dia. opening × 5"H. \$27.54 ctn. of 6 (\$4.59 ea.) 30% OFF \$19.28 ctn. of 6 (\$3.21 ea.) HW FT5RA



O. BRIGHT CERAMIC CUBES 5" sq. opening × 5"H. \$27.54 ctn. of 6 (\$4.59 ea.) 30% OFF \$19.28 ctn. of 6 (\$3.21 ea.) HW FT555A



P. CERAMIC MUGS 4½" dia. opening × 3¼"H. \$35.87 ctn. of 9 (\$3.99 ea.) 30% OFF \$25.11 ctn. of 9 (\$2.79 ea.) HW T5443



Q. STRIPED CERAMIC JARS WITH ROPE HANDLE 3" dia. opening x 5½"H. \$55.68 ctn. of 12 (\$4.64 ea.) HW 7-764PTR-1ST



R. STRIPED CERAMIC BIRDHOUSE PLANTERS 4" sq. opening × 4"H. 6"OH. \$39.04 ctn. of 8 (\$4.88 ea.) HW 4-607PTR-1SP



S. CERAMIC WAFFLE CONE VASES WITH SPOON Handwash only. FDA approved. 334'' opening  $\times$  7"H. \$40.53 ctn. of 4 (\$10.13 ea.) HW 9711488



T. POLKA DOT CERAMIC PITCHERS 5" opening x 7½"H. \$70.20 ctn. of 6 (\$11.70 ea.) HW 7-765PTR-1PD



U. CERAMIC RAIN BOOTS 1¾" × 2½" opening × 7¾"H. \$26.56 ctn. of 3 (\$8.85 ea.) HW 9712982





#### Color of the Year 2020

Influencing trends in fashion, beauty, home décor, design and beyond, Pantone® has announced Classic Blue as the color of 2020.

Timeless and enduring, this serene shade is elegant in it's simplicity. 2020 One Stop Shop Catalog.

> Color of the Year 2020 PANTONE\*





A. COBALT TEXTURED GLASS VASE 3" dia. opening × 6%"H. \$28.97 ctn. of 12 (\$2.41 ea.) 25% OFF \$21.73 ctn. of 12 (\$1.81 ea.) HW FTG3685



B. COBALT GLASS VASE WITH SILVER HANDLE 4½" dia. opening × 12"H. \$49.80 ctn. of 4 (\$12.45 ea.) HW 7-350GLS-1CB



C. COBALT MERCURY GLASS VASES Rectangular: 4"W × 3"D × 6"H. Garden: 4" dia. opening × 7"H. Curved Square: 3" sq. opening × 634"H. \$28.16 ctn. of 9 (\$3.13 ea.)

35% OFF \$18.30 ctn. of 9 (\$2.03 ea.) HW FTG11



D. COBALT GLASS VASE WITH ROPE HANDLE 33/4" dia. opening × 91/4"H. \$43.94 ctn. of 4 (\$10.99 ea.) HW 7-352GLS-1CB



E. COBALT GLASS VASE 5" dia. opening × 11"H. \$42.69 ctn. of 6 (\$7.12 ea.) HW 7-607GLS-1CB



F. TURQUOISE RIBBED GLASS VASE 5" dia. opening × 11"H. \$42.00 ctn. of 6 (\$7.00 ea.) HW 7-607GLS-1TQ



**G. RIBBED GLASS VASES** 4<sup>3</sup>/<sub>4</sub>" dia. opening × 4<sup>3</sup>/<sub>4</sub>"H. \$34.88 ctn. of 12 (\$2.91 ea.) **40% OFF** \$20.93 ctn. of 12 (\$1.74 ea.) **HT FGS5704** 



H. HEXAGON GLASS VASES 3¾" dia. opening × 7¾"H. \$39.88 ctn. of 12 (\$3.32 ea.) 30% OFF \$27.92 ctn. of 12 (\$2.33 ea.) HT FGS5702



I. GLASS GATHERING VASES  $4\frac{3}{4}$ " dia. opening ×  $7\frac{3}{4}$ "H. \$23.88 ctn. of 6 (\$3.98 ea.) 30% OFF \$16.72 ctn. of 6 (\$2.79 ea.) HT FGS5703



J. TURQUOISE GLASS VASE WITH SHELL ACCENT 3¾" dia. opening × 6"H. \$51.84 ctn. of 12 (\$4.32 ea.) **HW 4-516GLS-1SS** 



K. GLASS CUBES 4" sq. opening × 4"H. \$47.83 ctn. of 18 (\$2.66 ea.) HW 9-400GLS-1AF



L. GLASS CUBES 4<sup>3</sup>/<sub>4</sub>" sq. opening × 4<sup>3</sup>/<sub>4</sub>"H. \$44.23 ctn. of 12 (\$3.69 ea.) HW 9-475GLS-1AF



M. GLASS BUD VASES 2¼" dia. opening × 7¾"H. \$20.57 ctn. of 12 (\$1.71 ea.) HW 6-631GLS-1AF



N. GLASS VASES 4" dia. opening × 10¼"H. \$38.88 ctn. of 6 (\$6.48 ea.) HW 6-594GLS-1AF



O. GLASS MASON JARS  $3\frac{1}{4}$ " dia. opening ×  $6\frac{3}{4}$ " H. \$36.00 ctn. of 12 (\$3.00 ea.) HW 4-455GLS-1AF



P. OCEAN BREEZE GLASS VASES WITH GOLD METAL AND ROPE 3¼" dia. opening × 8½"H. \$43.71 ctn. of 6 (\$7.29 ea.) HW 4-228GLS-1GAF



Q. OCEAN BREEZE GLASS VASES WITH GOLD METAL AND ROPE 3½" dia. opening × 7½"H. \$63.77 ctn. of 6 (\$10.63 ea.) **HW 7-228GLS-1GAF** 



R. NORTH SEA TEXTURED GLASS VASES WITH METAL HANDLE 2½" dia. opening × 5"H. \$47.31 ctn. of 12 (\$3.94 ea.) HW 7-843GLS-1NS



S. NORTH SEA GLASS VASES WITH ROPE 3¾" dia. opening × 5¾"H. \$41.14 ctn. of 8 (\$5.14 ea.) HW 7-813GLS-1NS







A. RIBBED GLASS VASE 3¼" dia. opening × 7½"H. \$30.88 ctn. of 12 (\$2.57 ea.) HW FG5601



B. CUT GLASS VASE 3½" dia. opening × 7"H. \$28.99 ctn. of 12 (\$2.42 ea.) HW FG494



C. RIBBED GLASS VASE 4" dia. opening × 6¼"H. \$17.88 ctn. of 6 (\$2.98 ea.) HW FTG3895



D. TEXTURED GLASS VASE 2<sup>3</sup>/<sub>4</sub>" dia. opening × 7"H. \$19.88 ctn. of 12 (\$1.66 ea.) HW FG1790 🦐



E. TEXTURED GLASS VASE 3<sup>3</sup>/<sub>4</sub>" dia. opening × 9<sup>3</sup>/<sub>4</sub>"H. \$34.20 ctn. of 6 \$5.70 ea.) HW FG1309



F. RIBBED GLASS VASE 3½" dia. opening × 8½"H. \$16.99 ctn. of 6 (\$2.83 ea.) HW FTG3894



G. DIMPLE EMBOSSED GLASS VASE 5" dia. opening × 10"H. \$18.88 ctn. of 4 (\$4.72 ea.) HW FTG4748



H. RIBBED GLASS FLARE VASE 6" dia. opening × 10"H. \$28.51 ctn. of 4 (\$7.13 ea.) HW FG7179





I. GLASS CUBE 3½" sq. opening × 4"H. \$27.88 ctn. of 12 (\$2.32 ea.) HW FTG010C



J. GLASS RECTANGULAR VASE 4"W × 3"D × 6"H. \$23.88 ctn. of 12 (\$1.99 ea.) HW FTG246C ♠



K. GLASS GATHERING VASE 4¼" dia. opening × 7¾"H. \$16.68 ctn. of 6 (\$2.78 ea.) HW FTG145C



L. HANDBLOWN GLASS RECTANGULAR VASE 4"W × 3"D × 6"H. \$26.34 ctn. of 6 (\$4.39 ea.) HW FTG346



M. GLASS REGENCY VASE 3¼" dia. opening × 7"H. \$25.88 ctn. of 12 (\$2.16 ea.) HW FTG3600 €



N. GLASS ROSE BOWL 3%" dia. opening × 6"H. \$31.99 ctn. of 12 (\$2.67 ea.) HW C967 🦐



P. FLAT TOP GLASS VASES 2" dia. opening × 9"H. \$25.54 ctn. of 12 (\$2.13 ea.) HW FG8739



O. GLASS MASON JAR 4½" dia. opening × 7¾"H. \$25.62 ctn. of 6 (\$4.27 ea.) HW FTG5256





## SUMMERTIME SENSATIONS



A. TWIGGY VINE POTCOVER Hard liners included. 7" dia. opening × 6½"H. Fits a 6½" grower's pot. \$38.88 ctn. of 12 (\$3.24 ea.)



E. STAINED BAMBOO BASKETS Over-the-rim hard liners included 7" square, 6½" round, 7" oval.



B. TWIGGY VINE POTCOVER Hard liners included. 10" dia. opening × 8½"H. Fits an 8" grower's pot. \$41.03 ctn. of 8 (\$5.13 ea.) 25% OFF \$30.77 ctn. of 8 (\$3.85 ea.) HW F7055



C. VINE BASKET Hard liners included 6" dia. opening × 3½"H. \$57.88 ctn. of 24 (\$2.41 ea.) 25% OFF \$43.41 ctn. of 24 (\$1.81 ea.) HW 82256



D. VINE BASKET Hard liners included. 8½" dia. opening × 4"H. \$41.88 ctn. of 12 (\$3.49 ea.) 25% OFF \$31.41 ctn. of 12 (\$2.62 ea.) HW 82258



\$43.88 ctn. of 24 (\$1.83 ea.) 25% OFF \$32.91 ctn. of 24 (\$1.37 ea.) HW 1603B



F. STAINED UNPEELED WILLOW BASKET Hard liners included. 9"W × 5"D × 4"H. \$37.88 ctn. of 6 (\$6.31 ea.) 25% OFF \$28.41 ctn. of 6 (\$4.74 ea.) HW F2494



G. UNPEELED WILLOW BASKETS Hard liners included. 8", 91/2" and 103/4" oval. \$64.99 ctn. of 12 (\$5.42 ea.) 25% OFF \$48.74 ctn. of 12 (\$4.06 ea.) HW 2516RS



H. UNPEELED WILLOW BASKETS Hard liners included. 7½", 9½" and 11" round. \$69.88 ctn. of 12 (\$5.82 ea.) 25% OFF \$52.41 ctn. of 12 (\$4.37 ea.) HW RUWS3



I. UNPEELED WILLOW BASKETS Hard liners included. 9", 10½" and 12" round. \$73.99 ctn. of 12 (\$6.17 ea.) 30% OFF \$51.79 ctn. of 12 (\$4.32 ea.)





J. UNPEELED WILLOW BASKETS Hard liners included. 10", 11½" and 13" oval. \$73.99 ctn. of 12 (\$6.17 ea.) **30% OFF** \$51.79 ctn. of 12 (\$4.32 ea.) HW UWO



K. WILLOW BASKETS N. WILLOW BASKETS Hard liners included. 9½", 12" and 14" oval. 8½", 10½" and 13½" round. \$61.88 ctn. of 6 (\$10.31 ea.) 30% OFF \$43.32 ctn. of 6 (\$7.22 ea.) HW 82106





L. BUFF WOODCHIP BASKETS L. BUFF WOODCHIP BASKETS Hard liners included. Moveable handle. 7" rectangle, 7½" oval, 6" round. \$41.88 ctn. of 12 (\$3.49 ea.) 30% OFF \$29.32 ctn. of 12 (\$2.44 ea.) HW 86295



M. WHITEWASH BAMBOO POTCOVER Over-the-rim hard liners included. 7" dia. opening × 5½"H. Fits a 6" grower's pot. \$47.75 ctn. of 24 (\$1.99 ea.) 35% OFF \$31.04 ctn. of 24 (\$1.29 ea.) HW 6051GW



N. WHITEWASH BAMBOO POTCOVER N. WHITEWASH BAMBOO POICC Over-the-rim hard liners included. 9" dia. opening × 7½"H. Fits an 8" azalea pot. \$38.99 ctn. of 12 (\$3.25 ea.) 30% OFF \$27.29 ctn. of 12 (\$2.27 ea.) HW 6054GW



O. WHITE PAINTED WOODCHIP BASKETS Hard liners included. 61/4" and 8" round. \$66.88 ctn. of 12 (\$5.57 ea.) 25% OFF \$50.16 ctn. of 12 (\$4.18 ea.) HW 74315/2



P. WHITE PAINTED WILLOW BASKETS Hard liners included. 10½", 12" and 13" oval. \$108.51 ctn. of 12 (\$9.04 ea.) **35% OFF** \$70.53 ctn. of 12 (\$5.88 ea.) HW 9001W



**Q. WHITEWASH WILLOW BASKETS** Hard liners included. 9", 10½" and 12" round. \$72.88 ctn. of 12 (\$6.07 ea.) **30% OFF** \$51.02 ctn. of 12 (\$4.25 ea.) HW WWWR



R. WHITEWASH WILLOW BASKETS Hard liners included. 8¼" round, 9" oval, 9¼" rectangle. \$55.71 ctn. of 9 (\$6.19 ea.) 25% OFF \$41.78 ctn. of 9 (\$4.64 ea.) HW 99208WW



S. GREEN WOODCHIP BASKETS Hard liners included. 6¼" and 8" round. \$67.88 ctn. of 12 (\$5.66 ea.) 25% OFF \$50.91 ctn. of 12 (\$4.24 ea.) HW 72027/2



## SUMMERTIME SENSATIONS

#### A. KRAFT CARRIERS

 $\begin{array}{lll} \textbf{Small} & 41/2"W \times 41/2"D \times 4"H. \\ \textbf{Holds most vases } 11/4" & to 3" & in diameter. \\ \textbf{\$87.00 ctn. of } 100 & (\textbf{\$0.87 ea.}) \\ \end{array}$ 10% OFF \$78.30 ctn. of 100 (\$0.78 ea.) HW ED0111

Medium 7"W × 7"D × 5"H. Holds most vases 3¾" to 6" in diameter. \$120.00 ctn. of 100 (\$1.20 ea.) 10% OFF \$108.00 ctn. of 100 (\$1.08 ea.) HW ED0113

Large 9½"W × 9½"D × 6"H.
Holds most vases 6" to 7½" in diameter.
\$108.00 ctn. of 50 (\$2.16 ea.)
10% OFF \$97.20 ctn. of 50 (\$1.94 HW ED0115

#### B. BLACK CARRIERS

Small 4½"W × 4½"D × 4"H.
Holds most vases 1½" to 3" in diameter.
\$97.00 ctn. of 100 (\$0.97 ea.)
10% OFF \$87.30 ctn. of 100 (\$0.87 ea.) HW ED0112

Medium 7"W × 7"D × 5"H. Holds most vases 3¾" to 6" in diameter. \$136.00 ctn. of 100 (\$1.36 ea.) 10% OFF \$122.40 ctn. of 100 (\$1.22 ea.) HW ED0114

HW ED0114 Large 9½"W × 9½"D × 6"H. Holds most vases 6" to 7½" in diameter. \$121.00 ctn. of 50 (\$2.42 ea.) 10% OFF \$108.90 ctn. of 50 (\$2.18 ea.) HW ED0116





# Patriotic

## www.bb-ftd.com 800-241-2094



XtraLife® NON-PACKAGED

49870-18 1.16

Order in multiples of 6.



49890-18 Order in multiples of 5.



78387-36 3.67 Order in multiples of 3.



49867-18 2.99 Order in multiples of 5.



78084-18 1.14 Order in multiples of 6.



**49874-36** 3.76 Order in multiples of 5. 3.76

For our full line of balloons, visit us at: www.bb-ftd.com

### **Username:**

ftd+your FTD Member number

#### Password:

bb+your FTD Member number

Total Order Value	Ground Freight	2-Day Freight Charge (Within Cont. U.S.)**	Next Day Freight Charge (Within Cont. U.S.)**	Expedited Freight Charge (Within Cont. U.S.)**
\$50.01–\$100	\$10.95	Add \$15	Add \$20	Add \$75
\$100.01–\$199.99	\$14.95	Add \$15	Add \$20	Add \$75
\$200 and up	FREE	Add \$15	Add \$20	Add \$75

\*\* Per Carton

Prices are subject to change without prior notice.



A. PATRIOTIC NESTED WOOD CRATES

PVC liners included.  $6"W\times 6"D\times 41/\!\!/^{\!\!\prime}H$  and  $8"W\times 8"D\times 6"H.$ Holds 4" and 6" grower's pots. \$39.88 ctn. of 4 (\$9.97 ea.) HW 9729811



B. PATRIOTIC PINWHEEL Wooden stick 17"W × 8"D × 17"D. 43"OH.

\$47.40 ctn. of 4 (\$11.85 ea.) HW 9715603 Limited Quantity



E. PATRIOTIC METALLIC MESH ROLL 21" × 10yd. \$12.46 ea. HW 9721917





C. PATRIOTIC CERAMIC MUG Individually gift boxed. Dishwasher and microwave safe.

FDA approved. 13 oz. 4½" opening × 4½"H. \$21.30 ctn. of 6 (\$3.55 ea.) HW 9725508



F. #9 PATRIOTIC CHEVRON WIRED SATIN RIBBON 1½" × 20yd. \$10.88 ea HW 9725093



D. RESIN PATRIOTIC **COWBOY BOOT VASE** 2" × 3" opening × 9¾"H. \$35.29 ctn. of 2 (\$17.65 ea.) HW 1228103



G. #9 STARS AND STRIPES WIRED SATIN RIBBON 1½" × 20yd. \$10.88 ea HW 9725073



H. LARGE PATRIOTIC BURLAP BOW 16"W × 25"H. \$35.22 ctn. of 2 (\$17.61 ea.) HW 9729787

#### FTDMARKETPLACE.COM SHOPPING SITE!

To view all of our monthly specials, visit www.ftdi.com/promotions

# stay connected!

f @MercuryNetwork

@MercuryNetwork @FTDMercuryNetwork blog.ftdi.com



800.767.4000 | FAX 630.719.4861 | MERCURY 90-0233AA



